
Multiplying 2 digits x 1 digit (written strategy)

There are 35 sweets in each packet. Mary 
bought 5 packets of sweets. How many 
sweets did Mary buy?

Seven boxes of books are delivered to a 
store. If each box contains 56 books, how 
many books are delivered in total?

Jenny works 38 hours a week. How many 
hours does Jenny work in each 4 week 
period?

Each bus can seat 74 passengers. How 
many buses are need to transport 620 
passengers?
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3 6 
x  4 

6 8 
x  7 

9 7 
x  7 

3 8 
x  5 

9 1 
x  6 

5 3 
x  5 

7 2 
x  3 

8 4 
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8 8 
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